
��
��

Andante

GE 0 5 :: 5 k5�5M 5M 5M 5 5 5 5 5 :: 5 5 : 5 5 : 5 55 :: 5 55 :: 5 5 : 5 5 5 5 5E 5 :: 5 5M 5M

�E
p55M 55M 55M 55M 55M 55M 55M 55M 55M 55M 55M 55M 555M 555M 55

M 55
M
EE

55
M
55
M 4 55M 55M 55M 55M

7GE k5� 5M 5 5 5 5 5M� = k5� 5
M 5 5 5 5 5 5 5 5 55 :: 5 5 : 5 5 : 5 5 : 5 5M : 5M 5M : 5M 5� =

�E 55M 55M 55M 55M 555M 555M 555M 555M 55 = 555�
55 4
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Example 5.28
Haydn, Symphony No. 101 in D (“Clock”)
second movement, 1–10

1

Analyzing Classical Form



��
��

Allegro

G�
p
5555M
�
5555M

= 5 5! 5 5M = 555M
�
555M

= 5 5 5 5M = 5� 5 5 5 5� 5� 5 5� 5� 5 5 5 5 5 43
3

�� 555M
�
555M 4 4 = 555M

�
555M

4 0 G
555 555 555 5555 555 5555� 555 4

9G�
8 5 55� 5 5 5 55 5 5 5 5 :55 :5 5 5 5 :5 5 : 5 5

G� 555 555! 555 555 555 555 55
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Example 5.29
Beethoven, Piano Sonata in F, Op. 10, No. 2
first movement, 1–12

1

Analyzing Classical Form



��
��
��
��

Presto1

2

G�
p
5E � 5M 5M 5M! 5M 5M 5E 5M 5 5E 55 5! � = 5E � 5M 5M 5 5

M 5M 5! 5M! 5 5! 55 5! � = 5�
cre  -                 -    scen    -      do

5M 5M 5 5M 5M 5 5M! 5 5 555� =

G� =
p
5M�
= = 5M� = = 5M 5M 5M 5� = = 5M� = = 5M� = = 5M 5M 5M 5� = =

cre  -                 -    scen    -      do

5 = 5 = 5M 5 5 555� =
�� =

p
5M
� = = 5M

� = = 5M 5M 5M 5� = = 5M� = = 5M� = = 5M 5M 5M 5� = =
cre  -                 -    scen    -      do

5 = 5 = 5M 5M 555� =
�� =

p

5M� = = 5M� = = 5M 5M 5M 5� = = 5M� = = 5M� = = 5M 5M 5M 5� = =
cre  -                 -    scen    -      do
5 = 5 = 5 5M 5M 5� =
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Example 5.30
Haydn, String Quartet in F minor, Op. 55, No. 2 (“Razor”)
fourth movement, 1–6

1

Analyzing Classical Form



Larghetto

G�� �5M 55M 5M 5M 5M5 5 5 4 �5M 55M 5M 5M 5M55 5 4 5M 5�5555 5M 5555

��� 5
555555555555555 5555555555555555 5555555555555555 5555555 5 5555555 5

13G�� 5 5
�!5555 5E 5 +5 5! 55M 5M 5M 5

M 5 5 5+ 5 5 5 5555 5! 5 5+555 5� 555 5! 555 5� 55 55� 5 4

��� 5
5555555 55 5 55 5 5 5 5 5 5 55 5 5 5 55 5 55 5 5 5

5555 5555 55 4
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Example 5.31
Mozart, Piano Concerto in F, K. 413
second movement, 9–15 (R=½N)

1

Analyzing Classical Form



��
��
��

Andante

G� 0 4 4 = 3
p

5� 5 3 5 5 3 5 5 3 5 5 4 4 4 4 = 3 5$ 5 3 5 5 3 5 5 3 5
G�

mezza voce

5 5 5
�5M 5 5 4 00 5 5 5 5M 555 4 00

�� 55 55 55 55 55 4 00 55 55 55 55 55 4 00

7G�
f

5 5 55 5 5 5 5 5 BM
p

5 5 5� 5 5 5 5 5 = 5L� 5E 5 5 5 5M 5� 55 5 5 5 4

G�
f

5� 5� 5 5� M 5 5 5 5 5 5 5E 5 =
p

5 5� 5 5! 5 5 5 = 5� 5E 5 5 5 5 5 5! 5 4

�� 00 =
f

5 5 5 5 5 5
p
5

= 5� 5� 5 5 5 5 5 = 5� 5E 5 5 5 5 5
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Example 5.32
Mozart, Violin Sonata in C, K. 403
second movement, 1–12

1

Analyzing Classical Form









Allegro

G���
p

5M 5M 5M 5M 5� 5M 5� B k5� k5�5 5! 5 5 5 5 5 5 5M 5M BM 5 5

���� = 4 5 5 5 5 5 5 5 5! 5 5 5 5
5 5 5 5 5 5 55 5 55! 5 55 5 5 5! 5 5 5 5 5 5

5G��� 5 5 B 5M 5 55 5 B 5M 5 5 5M 5 5 5M 5 5 5 4 4 5 5 BB 5M 5 5

���� 5 5 5! 5 5 5 5 5 5 5 5 5 5 5 5
5E 5 5 5 5 5 5! 5 5 = 5 5 5 5 4 = 5 5! 5 5 5 5 5

10G��� BB 5M 5 5 5M 5 5 5M 5 5 5M
cresc.

B� 5 5 5 5 5 5 5 5 5! 5M BB 5�

���� = 5 5 5 5
5 5 5E 5 5

5 5 5 5
5! 5 5 5 5! 5 5! 5 5 5 5 5 5 5 5 5 5! 5 5 5 5 5 5 5! 5 5
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Example 5.33
Beethoven, Piano Sonata in C minor, Op. 13
third movement, 1–17

1

Analyzing Classical Form



15

G���
5 5 5 5 5� 5 5 5! 5M 8

f

5 5 5 5M 555
M!!

555
M

���� 5
5 5 5 5 5 5 5 5M 55M! 55

M
55M 55M

Example 5.33, Beethoven, Piano Sonata in C minor, Op. 13, third movement, 1–17 (continued)
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��
��

Allegro moderato

G 5 5M 55 85555 5M 555� = 5M 5M 5M 55 85555 5M 555� =
p

5M 5M 5M 5
M 5M� = 5M 5M 5M 5

M 5M� =

� 555555 5 5 5555 5555 555555 5 5 5555 5555 55555555 5555 �
5555

7G
f

5$
5M 85 55 5E 5 4

p

5 5 5 5 55 5
5� = 5 5 5 5 55 5

5�
=

f

5 5 5M 5M 5 5 5M 5M

� 5 55 5 5 5 5 5 5 5 5 5 5
5 5 5 5 5 5 5 5 5 5 5 5 5 5 5

f

5 5 5 5
5 5 5 5 5 55 5 5 5 5 55 5 5 5

12G 555555555
55555M +

p

555+555+555+
f

555 555555555
5555 5M +

p

555+555+555+
f

555 5�
� 55 4

p f

55M 55M 55M 55M 5 4
p f

55M 55M 55M 55M 5�
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Example 5.34
Mozart, Piano Sonata in C, K. 330
first movement, 1–16

1

Analyzing Classical Form












Allegro1

2

G�� 0 0
dolce

B 5 555 5 5 4 ? B 5 5 5 5 5 5 4 4
mf

5M 5M 5M 5M 5M 5M 5 4
5M 5M 5M3 3

3

G�� 0 0
p

' 5 4 ? B 5 5 5 5 5 5 4 4
mf
5M 5M 5M 5M 5M 5M 5

?3

3��� 0 0
p

B 5 555 5 5 4 ? ' 5 4 ? 0
���

p
5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5 5 5 5 5 5 5 5 5 4 ? ? 4

mf

5M 5M 5M3

81

2

G��
5M 5M 5M 5

4
f

5M 5M 5M 5M 5M 5M 5M 5M 5M 5
fz

5 5 5 5 B 5
f

5M! 5M 5M 5M 5M 5M 5M 5M 5M� 5M 5M 5M 5M 5M 5M 5M

3 3 3
3

3

G�� 0
f

B : 5
fz

B 5 4
f
5 4 5M 5M 5M 5M 5M 5M

5M

��� 0
f

B : 5
fz

B 5 4
f

5M 4 5M 4 5M
���

5M 5M 5M 5 ?
f

B : 5E
fz

B : 4
f

5M 4 5M 4 5M
3
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Example 5.35
Haydn, String Quartet in B-flat, Op. 50, No. 1
first movement, 1–12

1

Analyzing Classical Form



��
��
��
��

Allegretto1

2

G
p
5 = 4 =

dolce

k5�5 5 5M 5 5 5 5 : 5 5M 5M� = = 5E 5 5 55 5 5� = = k5�5 5 5M 5 5 5 5 : 5 5M 5M� = =
G

p
5 = 4 = 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5

�
p

5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5
�

p
5 = 4 = 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5

71

2

G 5E 555555� = = 5 5 5 5 5 55� = =
k5�5 5 5 5 5 5 5� : 5 5M� 5 5E 5! 5 5 5 5 5 5E 5� = =

G 5 5 5 5 5 5 5 5 5 5 5 5 k5�5 5 5 5 5 5 5� : 5 5ME� 5 5!� 5! 5 5 5 5 5E 5M 5M 5M

� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5M 5M 5M 5M 5 : 5 5M� 5 5�
5 5 5 5 = = 5M 5M

� 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5� 5 5 5E 5 = 4 =

Copyright © 2013 Oxford University Press

Example 5.36
Haydn, String Quartet in G, Op. 54, No. 1
second movement, 1–12

1

Analyzing Classical Form



��
��

Andante

G� 5$ 5 5! $5 5 5 55 5� 5
p

= 5�
3

555
3

555
3

f
555

5 5
p

= 5�
3

55 5
3

555
3

f
555 5 4

�� 3 3555 3555 3555 55555555 5 555555555 55555555 5 55 5555555 5 5 55
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Example 5.37
Mozart, Piano Sonata in C, K. 279
second movement, 1–6

1

Analyzing Classical Form



��
��

Allegro molto
e con brio

G���
f
555 :::355 :5 5 :55 :55M 5M

4
p

55 BB 55!
f
555! :::355 :5 5! :55 :5 5M 5M

4
p

55! BB! 5 5 5 5 : 5� 5 B 5

����
5555
::::= 4 0 4 4 G55 BB 55 �

55555! ::::: = 4 0 4 4 G555 BBB 55 4 4 �555 BBB! 555

11G��� 5 5 5 5 : 5� 55 BB! 5
rinf.

5 5
5 55 :: 55� 55 55 55M 5

5 55 55M
!! 55 55 55M

4 4
pp
5! 55555 5M 4 4 4

5 55555 5M
4 4

3 3

���� 4 4 G55 BB 55 4 4 �555 BBB! 55 BB 55 55! 4 4 4 4 5555! 555M 4 4 4 4 555 555M 4 4

21G��� 4
ff
5 5! 5

f

555 555 :::355 :5
5 :55 :555M 55M =: 5! 5 :5 5! :55 :555M 55M =:55 :5

ff

5 :55 :55 :5 5M
5M
4

ff

5M!
5M
4

ff

5M 5
M
4

���� 4 4
55M 5555 ::::= 4 4 4 555M 555M! 4 4 4 4 555M! 555M 4 4 4 4 555M 555M 4 4 555M! 4 4 5555

M
4 4
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Example 5.38
Beethoven, Piano Sonata in C minor, Op. 10, No. 1
first movement, 1–31 (R=2N)

1

Analyzing Classical Form



��
��

Allegro

GE
p

5 : 5 5 4 5 5 4 5 : 5 5 4 5 5 4
fp

5 : 5 5 5 5
fp

5 : 5 5 5 5
f

5 : 5 5, 5, 5,

�E 4 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 G BB 4 BB 4 � 55 55 55

8GE 55555 5 5 5 5 5 55 555555555555 5 4
�E 55 4 55 4 5B 5 55 54
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Example 5.39
Mozart, Piano Sonata in G, K. 283
first movement, 1–10

1

Analyzing Classical Form



�
�

Allegro

G 5E $5 5 : 55 5$5 : 5 5E B 5 : 5 5 5 : 55 55 5$5 555 5E B 5 : 5
� 555 555 555 555 555 555 555 555 5555 5555 5555 5555 5555 5555 5555 5555 555 555 555 555 555 555 555 555 5555 5555 5555 5555 5555 5555 5555 5555

5G 55 :: 5555M =
p

55M� 55
M 55M 55E 55� = = 55M

� 55M! 55M 55E 55� = = 55M
� 55ME 55M 5 : 55 : 5! 5 : 5

f

5E $5 : 5 5 5 : 55 55 5! 555
� 55� 5 5 5 5 4 4 !5555 5� = 4 4 555� 555 5� = 4 4 555 555 555E 555 555 555 555 555 555 555 55555�
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Example 5.40
Mozart, Piano Sonata in A minor, K. 310
first movement, 1–10

1

Analyzing Classical Form


